SOLUTIONS
(65)
1. B
E
F

2. C

3. Part A:
1

Part B:
D
E
F

4. Irrational

Cannot

Rational

Is equal to an integer

5. C

6. C

7. f(x) = ¾x – 29
       4 

8. B
D
E

9. B

10. C
D
E

11. I.
B

II.
A

III.
D

12. Part A:
w = ¼t + 11.25 

Part B:
15¾ tons

13. Part A:
Greater than

Less than

Part B:
75%

Part C:
A, C
Part D:
A
E
14. Canada
88%

15. Part A:
C

Part B:
242ft2
16. GRAPH:
(-2,-9), (-1,-7), (0,5), (1, -3), (2,-1), (3,1), (4,-1)

17. B

18. ½

9

 
4

19. A
D

20. Difference of squares

A
C
D

       21.
Part A:
A
E


Part B:
A
B
C


Part C:
9 hours


Part D:
6 hours

22. Part A:
B
E
F

Part B:
E
G

23. Part A:
B

Part B:
D

24. Part A:
Right of

Up from

Part B:
Horizontal


Left of

25. Part A:
GRAPH
Line 1:
(0,50);
(15,150)
Line 2:
(0,0); (15,150)
Part B: 15

26. Part A:
22

Part B:
D

Part C: GRAPH:
(0,0), (5,2), (10,4), (20,8)

Part D:
B
27. Quadrant II

28. 148.5

4

The set of positive real numbers

Increasing and linear

29. x = -2

30. Number line:
x > -6

31. A

32. Part A:
-10

Part B:
Number line: x = 8 or -2

33. B

34. [image: image2.png]
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